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import java.util. Scanner;
public class Tetrissupport{

private static String[][] tet = new String[20]1[10];

private static String[][] subtet = new String[20][10];

private static String[][] maxtet = new String[20][10];

public Tetrissupport() {

/MHBIEDT 4 —ILKEFDT 4 —)L KIZaE—*/
public static void subTet() {
for(int i = 0;i < 20;i++) {
for(int j =0;]j < 10;j++) {
subtet[i][j] = tet[il1[jl;
}

}

[FHBRIEDT 4 —IL FEFHEOZT VT 4 —JL FIZaE—*/
public static void maxTet() {
for(int i = 0;i < 20;i++) {
for(int j =0;]j < 10;j++) {
maxtet[i]1[j] = tet[il[j];
}

}

[RHEHEDF T 4 —IL FEBRED T 4 —IL FIZaE—+/
public static void resTet() {
for(int i = 0;i < 20;i++) {
for(int j =0;]j < 10;j++) {
tet[i1[j] = maxtet[i1[j];
}

/K ETE R B/

public static int calculation() {
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int result = 0;

//78y I OEIMEFNIESTME(—FLOBRTO —FBTOETI19mMR)
outside:for (int i =0;i < 20;i++) {
for(int j =0;j < 10;j++) {
if(subtet[i][j].equals("H")) {
result += i;
break outside;

//BE(RMOETICO)AHNIEESR (T DIZDE 1T HS)
for(int i = 0;i < 19;i++) {
for(int j =0;j < 10;j++) {
if (subtet[i+1]1[j].equals("0O”) && subtet[il[j].equals("W")) {
result -= 1;

}

//RBOEEELLNZO) ZESHEVESICTHA D2 1ER)
for(int i = 0;i < 20;i++) {
for(int j =0;j < 9;j++){
if(subtet[il1[j+1].equals("O") && subtet[il[]j].equals("M")) {

result —= 1;

}

if(subtet[il[j].equals("O") && subtet[il[j+1].equals("W")) {
result —= 1;

}

return result;

public static void main(String[] args) {
// 27 #HHEt
for(int i = 0;i < 20;i++) {
for(int j =0;j < 10;j++) {
tet[il1[j] = "O";
subtet[il[j] = “"0O0";
maxtet[i][j] = "0O";
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while (true) {
Scanner keyBoardScanner = new Scanner (System. in) ;
System. out. print("EHL T B3I /I1E:7);
String input = keyBoardScanner. nextLine();
if (input. equals ("1”) || input.equals(“0”) || input.equals(”S”) || input.equals("Z")
[l input.equals("J”) || input.equals("L”) || input.equals("T")) {

//RBEERE (*x) ZEFER-Z/ (W) IZE#
for(int i = 0;i < 20;i++) {
for(int j =0;j < 10;j++) {
if(tet[i1[j].equals("*")) {
tet[i1[j] = "W";
}

}

//BR B HIILET
for(int i =19;i >=0;i—) {
if(tet[i]1[0].equals("M”) && tet[il[1].equals("M”) && tet[i][2].equals("W")
&& tet[il1[3].equals("W”) && tet[i][4].equals("W")
&& tet[il[5].equals("W”) && tet[i][6].equals("W")
&& tet[il1[7].equals("W”) && tet[i][8].equals("W")
&& tet[i1[9].equals("W™)) {

’

for (int j = 0;j < 10; j++) {

for(int i2 = i;i2 > 0;i2—) {
tet[i21[j] = tet[i2-11[j];
if(i2 ==1){
tet[0][j] = "O7;
}
}
}
i = 20;

it (input. equals ("17)) {
//E1T@Y
int intMax = -400;//IR7 O & KT
int judgell = {0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0};

//190 EREER 4T 151 4(T&Y)
for(int i = 0;i < 20;i++) {
for(int j =0;j < 7;j++){
if(tet[il1[j].equals("O") && tet[il[j+2].equals("O")
&& tet[i]1[j+1].equals("O") && tet[i][j+3].equals("O")
& (i 1= 19 && (tet[i+1]1[j].equals("W”) || tet[i+1]1[j+2].equals("H")

[| tet[i+1]1[j+1].equals("W") || tet[i+1]1[j+3].equals("H

[l i ==19){

if (judgel[jl == 0) {
subTet () ;
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subtet[i]1[j] = "W”; subtet[i][j+2] = "W";
subtet[i]1[j+1] = "W”; subtet[il[j+3] = "W";
judgelj] = 1;
if(calculation() > intMax) {
intMax = calculation() ;
maxTet () ;
maxtet[il1[j] = "*”; maxtet[i][j+2] = "%";
maxtet[il1[j+1] = "*”; maxtet[i][j+3] = "*";

}

//1AT4 5 1(108Y)
for(int i = 3;i < 20;i++) {
for(int j =0;j < 10;j++) {
if(tet[il[j].equals("O") && tet[i-11[j].equals("O")
&& tet[i-31[]j]. equals("0O") && tet[i-21[j].equals("O")
&& (i 1= 19 && tet[i+1]1[j].equals("m")
[l i ==19){

if(judge[j+71 == 0) {
subTet () ;
subtet[il1[j] = "W”; subtet[i-11[j] = "mM";
subtet[i-31[j] = “W”; subtet[i-2]1[j] = "W";
judge[j+7]1 = 1;
if(calculation() > intMax) {
intMax = calculation() ;
maxTet () ;
maxtet[i1[j] = “*”; maxtet[i-1]1[j] = "*";
maxtet[i-31[j] = “*”; maxtet[i-2]1[j] = "*";

}

//¥ER % Rk
resTet () ;

lelse if(input.equals("0)) {
//E9@Y
int intMax = -400;
int judgell = {0,0,0,0,0,0,0,0,0};

//0:4T252098EY)
for(int i = 1;i < 20;i++) {
for(int j =0;j < 9;j++){
if(tet[il[j].equals("O") && tet[i-11[jl.equals("O")
&& tet[i-11[j+1].equals("O") && tet[ill[j+1].equals("O")
& (i 1= 19 && (tet[i+1]1[j].equals("W”) || tet[i+1]1[j].equals("H"))

[l i ==19){

if(judgel[jl == 0) {
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subTet () ;
subtet[il1[j] = "M"; subtet[i-11[j] = "W";
subtet[i-11[j+1] = "M": subtet[il[j+1] = "mM":
judgel[j] = 1:
if(calculation() > intMax) {
intMax = calculation() ;
maxTet () ;
maxtet[i1[j] = “*”; maxtet[i-1]1[j] = “*";
maxtet[i-11[j+1] = "*”; maxtet[i][j+1] = "*";

}

//¥ER % Rk
resTet () ;

lelse if(input.equals(”"S™)) {
//E1T@Y
int intMax = -400;
int judgel] = {0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0};

//S4T253B8&Y)
for(int i = 1;i < 20;i++) {
for(int j =0;j < 8;j++) {
if(tet[i1[j].equals("O") && tet[il[j+1].equals("O")
&& tet[i-11[j+1].equals("O") && tet[i-1]1[j+2].equals("O")
& (i 1= 19 && (tet[i+1]1[j].equals("W”) || tet[i+1]1[j+1].equals("H")
[l tetlil[j+2].equals("m"))

[l i ==19){

if(judgeljl == 0){
subTet () ;
subtet[il1[j] = "W”; subtet[i][j+1] = "W";
subtet[i-11[j+1] = "W”; subtet[i-11[j+2] = "W";
judgelj] = 1;
if(calculation() > intMax) {
intMax = calculation() ;
maxTet () ;
maxtet[il1[j] = "*”; maxtet[i][j+1] = "%";
maxtet[i-11[j+1] = "*”; maxtet[i-1]1[j+2] = "*";

}

//890 EEEER:{T3 5 2(9:8Y)
for(int i = 2;i < 20;i++) {
for(int j =0;j < 9;j++){
if(tet[i][j+1].equals("O") && tet[i-11[]j].equals("O")
&& tet[i-11[j+1].equals("O") && tet[i-2]1[jl.equals("O")
&& (i =19 8& (tet[ill[jl.equals("M”) || tet[i+1]1[j+1].equals("W"))

[l i ==19){
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if (judge[j+8] == 0) {
subTet () ;
Subtet[l][_]+1] ="m"; SUbtet[I—”[J] -'m”:
subtet[i-11[j+1] = “M”; subtet[i-2]1[j] = "m";
judge[j+8] = 1;
if(calculation() > intMax) {
intMax = calculation() ;
maxTet () ;
maxtet[i][j+1] = "x"; maxtet[i—1][j] = "%
maxtet[i-11[j+1] = "*”; maxtet[i-21[j] = "*";

//¥ER % Rk
resTet () ;

lelse if(input.equals(“Z")) {
//E1T@Y
int intMax = -400;
int judgel] = {0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0};

//LAT2538EY)
for(int i = 1;i < 20;i++) {
for(int j =0;j < 8;j++) {
if(tet[i-11[]j]. equals("O") && tet[i][j+1].equals("O")
&& tet[i-11[j+1].equals("O") && tet[ill[j+2].equals("O")
& (i 1= 19 && (tet[il[j].equals("W”) || tet[i+1]1[j+1].equals("H")
[| tet[i+11[j+2].equals("W"))
[l i ==19){

if(judgel[j] == 0){
subTet () ;
subtet[i-11[j] = "W”; subtet[il[j+1] = "W";
subtet[i-11[j+1] = "W”; subtet[il[j+2] = "W";
judgelj] = 1;
if(calculation() > intMax) {
intMax = calculation() ;
maxTet () ;
maxtet[i-11[j] = "«*”; maxtet[i][j+1] = "*";

”

maxtet[i—1] [_j+]:| = "%"; maxtet[i] [J+2] = ¥

}

//790 EEER: 1T 35 2(9@Y)
for(int i = 2;i < 20;i++) {
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for(int j = 0;j < 9;j++) {
if(tet[il[j].equals("O”) && tet[i-1]1[j].equals("O")
&& tet[i-11[j+1].equals("O") && tet[i-2]1[j+1].equals("O")

& (i 1= 19 && (tet[i+1]1[j].equals("W”) || tet[il[j+1].equals("H"))
[l i==19)){

if (judge[j+8] == 0) {

subTet () ;
subtet[i]1[j] = "W”; subtet[i-1]1[j] = "W";

subtet[i-11[j+1] = "W”; subtet[i-2]1[j+1] = "W";
judge[j+8] = 1;
if(calculation() > intMax) {

intMax = calculation() ;

maxTet () ;
maxtet[i] [_]] = "%"; maxtet[i—1] [J] =

maxtet[i-11[j+1] = “*”; maxtet[i-2]1[j+1] = "x";

}

//¥ER % Rk
resTet () ;

lelse if(input.equals("J”)) {

//E3BY
int intMax = -400;
int judge[] = {0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0

,0,0,0,00000,0,0,00,0,0,0,0,0} ;

//dAE 90 EEER: 725 3@ &Y)
for(int i = 1;i < 20;i++) {
for(int j =0;j < 8;j++) {
if(tet[il[j].equals("O") && tet[i-11[j].equals("O")
&& tet[i]1[j+1].equals("O") && tet[i][j+2].equals("O")
& (i 1= 19 && (tet[i+1]1[j].equals("W”) || tet[i+1]1[j+1].equals("H")
[| tet[i+11[j+2].equals("W"))

[l i ==19){

if(judgel[j] == 0){
subTet () ;
subtet[il1[j] = "W”; subtet[i-11[j] = "W";
subtet[i][j+1] = "W”; subtet[i][j+2] = "W";
judgelj] = 1;
if(calculation() > intMax) {
intMax = calculation() ;
maxTet () ;
maxtet[i1[j] = “*”; maxtet[i-1]1[j] = "*";
maxtet[il1[j+1] = "*”; maxtet[i][j+2] = "*";
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//AT3H209EY)
for(int i = 2;i < 20;i++) {
for(int j =0;j < 9;j++){
if(tet[il1[j].equals("O") && tet[il[j+1].equals("O")
&& tet[i-11[j+1].equals("O") && tet[i-2]1[j+1].equals("O")
& (i 1= 19 && (tet[i+1]1[j].equals("W”) || tet[i+1]1[j+1].equals("H"))
[l i ==19){

if(judge[j+8] == 0) {
subTet () ;
subtet[il1[j] = "W”; subtet[il[j+1] = "W";
subtet[i-11[j+1] = "W”; subtet[i-2]1[j+1] = "W”;
Jjudge[j+8] = 0;
if(calculation() > intMax) {
intMax = calculation() ;
maxTet () ;
maxtet[i1[j] = "*”; maxtet[i][j+1] = "%";
maxtet[i-11[j+1] = "*”; maxtet[i-2] [j+1] = "*";

}

//J90 EERE;:{T2513B8E&Y)
for(int i = 1;i < 20;i++) {
for(int j =0;j < 8;j++) {
if(tet[i1[j+2].equals("0O") && tet[i-11[j].equals("O")
&& tet[i-11[j+1].equals("O") && tet[i-11[j+2].equals("O")
& (i 1= 19 && (tet[i+1]1[j+2].equals("W") || tet[i]1[j]l.equals("H")
[l tetlil[j+1].equals("m"))
[l i ==19){

if(Gudge[j+17]1 == 0) {
subTet () ;
Subtet[l][_]+2] ="m"; SUbtet[I—”[J] -'m”:
subtet[i-11[j+1] = "W”; subtet[i-11[j+2] = "m";
judge[j+17] = 1;
if(calculation() > intMax) {
intMax = calculation();
maxTet () ;
maxtet[i] [_]+2] = "x"; maxtet[i—1] [J] = "%
maxtet[i-1][j+1] = "*”; maxtet[i-1][j+2] = "*”;

}

//J180 EEER: T35 29:&Y)
for(int i =2;i < 20;i++) {
for(int j =0;j < 9;j++){
if(tet[il[j].equals("O") && tet[i-11[j].equals("O")
&& tet[i-21[j].equals("O") && tet[i-21[j+1].equals("O")
& (i 1= 19 && (tet[i+1]1[j].equals("W”) || tet[i-1]1[j+1].equals("H"))
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[l i ==19){

if (judge[j+25]1 == 0) {
subTet () ;
subtet[i1[j]l = "MW”; subtet[i-11[j] = "m";
subtet[i-2]1[j] = “"W”; subtet[i-2]1[j+1]1 = “"W";
judge[j+25] = 1;
if(calculation() > intMax) {
intMax = calculation();
maxTet () ;
maxtet[i1[j] = “*”; maxtet[i-1]1[j] = “*";
maxtet[i-2][j] = "*"; maxtet[i-2][j+1] = "¥";

}

//¥ER % Rk
resTet () ;

lelse if(input.equals(“"L")) {
//& 34 @Y
int intMax = -400;
int judge[] = {0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0
,0,0,0,0,0,0,0,0,0,0,00,0,0,0,0,0};

//L90 EERE::1T2513B8E&Y)
for(int i = 1;i < 20;i++) {
for(int j =0;j < 8;j++) {
if(tet[i1[j]l.equals("O") && tet[i-11[j+2].equals("O")
&& tet[il[j+1].equals("O") && tet[il[j+2].equals("O")
& (i 1= 19 && (tet[i+1]1[j].equals("W”) || tet[i+1]1[j+1].equals("H")
[| tet[i+11[j+2].equals("W"))
[1 i ==19){

if(judgeljl == 0){
subTet () ;
subtet[il1[j] = "W”; subtet[i-1][j+2]
subtet[il1[j+1] = "W”; subtet[i][j+2]
judgelj] = 1;
if(calculation() > intMax) {
intMax = calculation() ;
maxTet () ;
maxtet[i1[j] = “*”; maxtet[i-1][j+2]
maxtet[i1[j+1] = "*”; maxtet[i][j+2]

}

/LT3 2098Y)
for(int i = 2;i < 20;i++) {
for (int j = 0;j < 9;j++) {
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if(tet[il[j].equals("O”) && tet[i-1]1[j].equals("O")
&& tet[il[j+1].equals("O”) && tet[i-21[jl.equals("O")
& (i 1= 19 && (tet[i+1]1[j].equals("W”) || tet[i+1]1[j+1].equals("H"))
[l i==19)){

if (judge[j+8] == 0) {
subTet () ;
subtet[i1[j] = "M”; subtet[i-11[j] = "W";
subtet[i]1[j+1] = “M”; subtet[i-21[j] = "m";
judge[j+8] = 1;
if(calculation() > intMax) {
intMax = calculation() ;
maxTet () ;
maxtet[i1[j] = “*”; maxtet[i-1]1[j] = “*";
maxtet[i][j+1] = "x”; maxtet[i—Z][j] = "%

}

//L90 ERREE::{T2513B8&EY)
for(int i = 1;i < 20;i++) {
for(int j =0;j < 8;j++) {
if(tet[il[j].equals("O") && tet[i-11[jl.equals("O")
&& tet[i-11[j+1].equals("O") && tet[i-1]1[j+2].equals("O")
& (i 1= 19 && (tet[i+1]1[j].equals("W”) || tet[il[j+1].equals("H")
[l tetlil[j+2].equals("m"))
[l i ==19){

if(Gudge[j+17]1 == 0) {
subTet () ;
subtet[i1[j]l = “W”; subtet[i-1]1[j] = "m";
subtet[i-11[j+1] = "M”; subtet[i-11[j+2] = "M";
judge[j+17] = 1;
if(calculation() > intMax) {
intMax = calculation();
maxTet () ;
maxtet[i1[j] = “*”; maxtet[i-1]1[j] = “*";
maxtet[i-1][j+1] = "*”; maxtet[i-1][j+2] = "*";

}

//L180 EEER: {735 2(9:&Y)
for(int i = 2;i < 20;i++) {
for(int j =0;j < 9;j++){
if(tet[i][j+1].equals("O") && tet[i-21[j].equals("O")
&& tet[i-11[j+1].equals("O") && tet[i-2]1[j+1].equals("O")
& (i 1= 19 && (tet[i-1]1[j].equals("W”) || tet[i+1]1[j+1].equals("H"))
[l i ==19){

if (judge[j+25] == 0) {
subTet () ;
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Subtet[l][_]+1] = “"m”; subtet[i-2] [J] -'m
subtet[i-1]1[j+1] = "W”; subtet[i-2][j+1] = "m";
judge[j+25] = 1;
if(calculation() > intMax) {
intMax = calculation();
maxTet () ;
maxtet[i] [_]+1] = "x"; maxtet[i—z] [J] = "%
maxtet[i-11[j+1] = "*”; maxtet[i-2] [j+1] = "*”;

}

//¥ER % Rk
resTet () ;

lelse if(input.equals("T")) {
//& 34 @Y
int intMax = -400;
int judge[] = {0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0
,0,0,0,0,0,0,0,0,0,0,00,0,0,0,0,0};

//T180 E[EER: 172538 &EY)
for(int i = 1;i < 20;i++) {
for(int j =0;j < 8;j++) {
if(tet[i1[j].equals("O") && tet[il[j+2].equals("O")
&& tet[i-11[j+1].equals("O") && tet[ill[j+1].equals("O")
& (i 1= 19 && (tet[i+1]1[j].equals("W”) || tet[i+1]1[j+2].equals("H")
[| tet[i+11[j+1]1.equals("W"))
[l i ==19){

if(judgeljl == 0){
subTet () ;
subtet[i]1[j] = "W”; subtet[i][j+2] = "W";
subtet[i-11[j+1] = "W"; subtet[i][j+1] = "W";
judgelj] = 1;
if(calculation() > intMax) {
intMax = calculation() ;
maxTet () ;
maxtet[i1[j] = "*”; maxtet[i][j+2] = "%";
maxtet[i-11[j+1] = "*”; maxtet[i][j+1] = "*";

}

//TAT253@8E&Y)
for(int i = 1;i < 20;i++) {
for(int j =0;j < 8;j++) {
if(tet[i][j+1].equals("O") && tet[i-11[]j].equals("O")
&& tet[i-11[j+1].equals("O") && tet[i-1]1[j+2].equals("O")
& (i 1= 19 && (tet[i+1]1[j+1].equals("W") || tet[i]1[j]l.equals("H")
|| tetlil[j+2]. equals("H"))
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[l i ==19){

if (judge[j+8] == 0) {
subTet () ;
subtet[i1[j+1] = "M"; subtet[i-11[j] = "m";
subtet[i-1]1[j+1]1 = "W”; subtet[i-11[j+2] = "m";
judge[j+8] = 1;
if(calculation() > intMax) {
intMax = calculation();
maxTet () ;
maxtet[i] [_]+1] = "x"; maxtet[i—1] [J] = "%
maxtet[i-1][j+1] = "*”; maxtet[i-1][j+2] = "*”;

}

//T90 EERE: T35 209EY)
for(int i = 2;i < 20;i++) {
for(int j =0;j < 9;j++){
if(tet[il[j].equals("O") && tet[i-11[jl.equals("O")
&& tet[i-11[j+1].equals("O") && tet[i-2]1[jl.equals("O")
& (i 1= 19 && (tet[i+1]1[j].equals("W”) || tet[il[j+1].equals("H"))
[l i ==19){

if(judge[j+16] == 0) {
subTet () ;
subtet[i1[j] = "M"; subtet[i-11[j] = "W";
subtet[i—1][j+]] = "m”; subtet[i-2] [_l] -m
judge[j+16] = 1;
if(calculation() > intMax) {
intMax = calculation() ;
maxTet () ;
maxtet[i1[j] = “*”; maxtet[i-1]1[j] = “*";
maxtet[i-11[j+1] = "*”; maxtet[i-21[j] = "*";

}

//T90 ERREE: T35 209EY)
for(int i = 2;i < 20;i++) {
for(int j =0;j < 9;j++){
if(tet[il[j+1].equals("0O") && tet[i-11[j].equals("O")
&& tet[i-11[j+1].equals("O") && tet[i-2]1[j+1].equals("O")
&& (i =19 8& (tet[ill[jl.equals("W”) || tet[i+1]1[j+1].equals("W"))
[l i ==19){

if (judge[j+25] == 0) {
subTet () ;
subtet[i][j+1] = "W”; subtet[i-11[j] = "W";
subtet[i-11[j+1] = "W”; subtet[i-21[j+1]1 = "W";
judge[j+25] = 1;
if(calculation() > intMax) {
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intMax = calculation() ;

maxTet () ;
maxtet[i][j+1] = "x"; maxtet[i—1][j] e

maxtet[i—1][j+]] = "%"; maxtet[i—2][j+]] -~

}

//¥ER % Rk
resTet () ;

//FERERR
for(int i = 0;i < 20;i++) {
for(int j =0;j < 10;j++) {
System. out. print (tet[i1[j]);

}
System. out. printin();

lelse{
keyBoardScanner. close() ;

break;
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